Toernooi: Rapid met opgelegde opening
Speeltempo: 15 min. QPF

Datums: van 19/04/2019 tot 19/04/2019
Eindstand

1. Naam Voornaam FIDE-ID #Ptn #XtPtn PtnTot. Perf
1 De Rop, Gerry 208558 4.5 0.0 4.5 2196
2 Dupont, Paul 216062 4.0 0.0 4.0 2038
3 Van Bunderen, Gert 209023 3.5 0.0 3.5 1998
4 Van Danmme, Henri 202568 3.0 0.0 3.0 1911
5 Van Goethem, Jozef 209074 3.0 0.0 3.0 1720
b Bal, Bert 0 2.0 0.0 2.0 1650
7 Huysmans, Pierre 217336 2.0 0.0 2.0 1690
8 Slachmuylders, Bart 263699 1.5 0.0 1.5 1600
9 Vinck, Bart 23778 1.0 0.0 1.0 1356

10 Van Den Elsacker, Robert 21830 0.5 0.0 0.5 1277




Toernooi: Rapid met opgelegde opening
Speeltempo: 15 min. QPF
Datums: van 19/04/2019 tot 19/04/2019
Afdruk van de resultaten

UitsTagen Ronde 1 (19/04/2019)

1 De Rop, Gerry 222 1-0 Dupont, Paul

2 Van Den Elsacker, Rober 1626 (-1 Van Damme, Henri

3 Slachmuylders, Bart 1939 1-0 Huysmans, Pierre

4 Vinck, Bart 1509 0-1 Van Bunderen, Gert
5 Van Goethem, Jozef 1799  1-0 Bal, Bert

Uitslagen Ronde 2 (19/04/2019)

1 Van Bunderen, Gert 1905 BB De Rop, Gerry
2 Van Damme, Henri 2000 1-0 Slachmuylders, Bart
3 Dupont, Paul 1673 1-0 van Goethem, Jozef
4 Bal, Bert 0 10 Van Den Elsacker, Rober
5  Huysmans, Pierre 1539 1-0 Vinck, Bart
Uitslagen Ronde 3 (19/04/2019)
1 De Rop, Gerry 222 1-0 Van Damme, Henri
2 Slachmuylders, Bart 1939 (-1 Van Bunderen, Gert
3 Van Goethem, Jozef 1799 1-0 Huysmans, Pierre
4 Bal, Bert 0 01 Dupont, Pau
5 Van Den Elsacker, Rober 1626  0-1 Vinck, Bart
Uitslagen Ronde 4 (19/04/2019)
1 Vvan Goethem, Jozef 799 0-1 De Rop, Gerry
2 Van Bunderen, Gert 1905 1-0 Van Damme, Henri
3 Dupont, Paul 1673 1-0 Slachmuylders, Bart
4 Vinck, Bart 1509 0-1 Bal, Bert
5  Huysmans, Pierre 1539 1-0 Van Den Elsacker, Rober

Uitslagen Ronde 5 (19/04/2019)

1  Dupont, Paul 1673 1-0 Van Bunderen, Gert

2 De Rop, Gerry 2122 1-0 Huysmans, Pierre

3 Van Damme, Henri 2001 1-0 Bal, Bert

4 Vinck, Bart 1509 0-1 Van Goethem, Jozef

5 Slachmuylders, Bart 1939  K-% Van Den Elsacker, Rober
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